ΠΑΙΧΝΙΔΙ ΡΟΛΩΝ
ΠΡΟΒΛΗΜΑ: …………………………………………………………………………………………..

Προκειμένου να βρεθεί λύση στο προηγούμενο πρόβλημα, σκεφτήκαμε ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
Ο λόγος που σκεφτήκαμε αυτή τη λύση είναι γιατί ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

